S 4 FEREZF) — 78 KIERY X —@EK¥ 516
2022 %4 A 23 H(+L)

AR—=T RV T XN N—

1.(7) =% A
2.(5) 1A
3.(6) 8%
4.(D)FfAL
5.9 A&
6.(4) 1L H:
7.(3) &l
8.(8)AH
9.(2)HiH
P.KH

KIEEE

1 BIFR(CKRIEX)
l.va—Frade 177F
258k 13—5
3.(—B7vFr—kBlkI 13 58)
va—+t774 258
4(BEOMIC By v > —EH 25E=8)
L7 MRERTISE XA L) —ey b 1-0 2388
S.UBRiC X b B 2% =B
6.5 RV =R 3T rFovY

1 EE(—HEX)

L=xAK: v a— b ~ONBTFLITCHE | Hg—8
2LARGEY Ny R D 1B

JJBFE: vy Fyr—an “HIVvF—Z=HicHER 23=%H
AFHI: T4 P HE~NDY —F k=25 L1 12 27 %k



5AE:77—Abaw 379 FFvY

2 BIFR(KIEX)

7.%¢hv 3w 177%b
8va—+774 279 Fh
9.2k Y =k 3TV
=FHMRICIIZ 5 1]

2 EE(—HFK)
6.1 7 Fr~oe vy FCHE  fEE—H
TEIEZERY =ik 15—

SAH: Y FOLS—ick OV HE 13— - =8
9.RTHHmEY N by 2% - =8

L= AKERL=R 37V FF=vy

3 EFR(CKIEKX)

L.Ly—F=am 177}

22ERYV =k 277t
3FEERIC X VIR 2%E—8

v 2—774 37U FFzvy

3 EE(—ER)

20K —F=ame 177 b

JJBEIEKIC LY IHE 138—8

Ay Fry—auvn T8I v F—T5—RT U+ 2% 8
5 AT AV NI 379 FFvy

4 EFR(KIEX)

577—AXF774 179Fh
6.JUBRIc X v I8 1%E—8
T(—87vr—%8h 15%_=8)



aEkic X v 8 15— - =5
(BT vr—kBI 252
aEkic X v 8 25— - —H
9.PH)7 7 —A FawicfTEl2 ! 377 FFovy

4 EE(—HFKR)
6. A FEERIC L W HHE Mmip—8
78U A v F -k 8 M- =58

S (CEBIVF—RUEHLT Y+ 15=8)
L7754 23=58
9.954 +7954 379 bFzvy

5 [ (KIEX)
1.77—AF74F— 179 H
2UERIC X h IR 1%E—8

3. —Faw 2%"H
APuBRick OV HE 25— —8
54 v&—774 3T FFzvY

5 BIE(—EK)
BFRRZMBEE-TEK
12K hvyFame 177 F
2004 HE L= 277k

3 EREEFR~DY —xR—2b v b 258
AFFAZERY ZIR 37 b Fo vy

6 B (CKIEX)
F ARk =y

6.7UBKIc X b 8 fsE—5



T(—B7vr -8Ry W —5)

PUBRIC X b IS fmsE— - — 8
8.(RFLICKY T v —iEE M - =5)
F—Faw! 774 v7L—1 13- =5
9.kH v Fuoffic 1 AEMm 2-2 2% =58

lL¥y—Fam 379 brFzvy

6 EIE(—HEX)

SATZERY =R 177 ¢
6.fiff:va—b+774 277 b

7.8ty 7779774 37U FvY

7 BIR(KIEX)

B SR — A

29 —F74F— 179U Eh
3.7 bHiey b 1%E—8

47 b A —N"—DYV ==y 15 =8

5.4AY FIA4F— | ZBSVvF—RAFTY LI 379 FFzvy
7 HE(—EX)

SAH:AEL =R 177V ¢

9HIH:L 7 b flAl~D Y uk—2sF7v 1 11 23177 b
L=FAusRic X O 8 158—8

20L& v 7 bREIE Y M 1%E— - =8

3EFE:Y—FaouT BI7vF—T5—RAT v b, Y= FOXKRZ 7 —Dfijic 7 vF—if
HBUL, 1:EmM! 24 2% 58
47 7—Abwe 37U NFY

8 [EzR (KIEK)
EFERM - v — FPEE(D)FAL— (8) ey
(8—9)AH



(O—-DAE

6.5 RV =R 17w b
7.77—ARbrawm 2T 7Fh
SERVEIR 37 vrFvy

8 % (—f&K)

SAEREL=IR 177 h
6.7iff:L 7 bRiE Y b 1E—8
7.PH)BEM: Rk L =i 242
8AM: 74 FEie v b 23— =8
9RIH:ZERY =4k 377 rFzv

9 EIR(KIEX)

(PH—3)H

9.(PH)Z 4 biife v b fEIE—5

1. = — MREONHRZT fMg— - 8

2v7+ 774 1%—-—=8

3FEERIC X b IHE 1A

4L 7 b~DEA LY =Y ==y FTI3HBM 54 15

v — FEHE:(1-9) A
(9—7)AH
(7T—=3) =ZFAR
(3—1)EH

5.(R¥Iic V8BS v —iEEH 1 %=8)

PUERiC X b 8 1%8— - =8
6.(—H T vFr—BEEI 1% =8)
H— Koo 2%—- - _H

THERIC K D HE 2 BB R
L7 F~DXALY—vy FT3HEENMN 842358



9.muBEkic X v HHE 2%— - =8
LEEFICEY 7 v —ER 2% - =8)

va— b ~ONIFLY, v a— b OEKRT 7 —OfIC 2 FUEM 10-4 2388
2.a—=b+774 37U bFFzvY

9 EIE(—EKX)
BeFREK -

L=FA: 74 bafe v b | 558

2.7 bETRE Y D MEIE— - T H

3B puBkic Xy ) EEE S

4.PHMT:L 7 b~ XA LY —by F ! |1 10-5 fESEHE
i S AVl

SAEFCERICX VLI Lc 1 B! 10-6 fESEi s
6. ZE R Y ZHR 1 e
THEH: Y — F~0WNEFZIT | 1 5GB! | 10-7 1 FEiE 58

—8 7 v —EEH—(PR)BH

8AH: 74 b~ 4 LY —by bC2r0E8M! 1 10-91%E— - —8
HFZR A -2
9.(PH)E: %R Y =4k 25— —_H

LEFARZERY =R 377 FaGiRT



KIE 100 001 008 || 10
—1& 200 000 205 || 9

— R RH 5 )= (1 1) — A (L [a) — [&] A (1 1/3 )~ (2/3 [a])
RIEEE (4 ) — [BF] 557K (4 ) — 450 [m]) — =8 (1/3 ) —2(2/3 [[])

T BITREE
ARSFTFRH. B

JeFII KM, 1HIFK, 1 5% 52 CLEVET, LArLZOEKRD 1B, KIHITH - =K
KHENFZITTHBE L ABR/FIOY —F v —L T v 2ILEBHIRL £, mikTruseek
BHZD B EHICEBOMN 2T, 5EEE 2-1 TR2Ed, 6[E, KHICEDbY=Y Vv F
W ED o7z 1 AL, Fmea b 3, 7TRHE, R — 7L 2 FFTHD Y
Ok —ALZ7VvERD 1 EEN, bicey PEHFOLI—TH S 1 AEML 42 &L F
T ZORIIBARAARET LMILT 2H, 9RIRIC2 4 = 7 H &R AREN. HETHRICH
FO—FIC8REZRVET, 9 MEILEITH =KAL 6, HEfie vy P THREZE L, 1 1
AETHDTFLDDHE—ARPHT, 9-10 THAEK T LRV T Lz, BlETche ST
HolboD, 1 HOBEAZRET MWL OERL A T LA, QEAIF)



